
 
Pre-Calculus 11       4.3 Part 1 Solving by completing the Square / Square Rooting 
 
Solving by Square Rooting – use this process when the initial quadratic equation is in  
 
_________________  form. 
 

ଶݔ .1 െ 64 ൌ 0 
 
 
 
 
 
 
 

ଶݔ2 .2 െ 18 ൌ 0 
 
 
 
 
 
 
 
 
 

3. ሺݔ ൅ 2ሻଶ െ 6 ൌ 0 
 
 
 
 
 
 
 
 
 
 
 

4. 2ሺݔ െ 3ሻଶ െ 14 ൌ 0 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
Solving by Completing the Square and Square Rooting – use when the quadratic equation is 

initially in ____________________  form. 

 

ଶݔ .1 ൅ ݔ6 െ 3 ൌ 0 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. െݔଶ ൅ ݔ4 ൅ 7 ൌ 0 
 
 
 
 
 
 
 
 
 
 
 
 
 

ଶݔ2 .3 ൅ ݔ8 െ 5 ൌ 0 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 


